Bid #PNC2116454C1 - Westside Water Main Expansion Loop

Start Date Aug 24, 2018 3:07:19 PM EDT Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Miguel Lopez Jr Inc	First Offer - \$45,000.00	1 / lump sum	\$45,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
V Engineering & Consulting Corp	First Offer - \$54,000.00	1 / lump sum	\$54,000.00	Υ	Υ
Product Code:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$64,370.00	1 / lump sum	\$64,370.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$67,000.00	1 / lump sum	\$67,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$68,955.31	1 / lump sum	\$68,955.31	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
DBF CONSTRUCTION LLC 👔	First Offer - \$70,000.00	1 / lump sum	\$70,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
MGM General Contracting	First Offer - \$73,480.24	1 / lump sum	\$73,480.24	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Pleas		s of Intent.	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SkyData UAV	First Offer - \$1,975.00	1 / lump sum	\$1,975.00	Υ	Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes: Pro	ject Area - BID No. PNC	2116454C1	-
		WESTSIDE WATER MA	IN EXPANSION LOOP		
		The 6,850-foot project	is located between Rur	nway 9L-27	R, west
			north of Runway 10R-3		
		Road, SW 39th Street,	SW 12 Terrace and NW	12th nrpta	nd south
		runways and west of t	he Fort Lauderdale Ho	llywood	
		International Airport ar	nd includes a grass field	l east of Pe	erimeter
		Road.			
		Proposed Photography	y and Video Services		
		Prior to commenceme	ent of construction and	during the	
			e entire length and, wh		
			s and open fields, and the	U	
		_	roughout the approxim	-	
			be captured while walk	U	
			ays, sidewalks, curbs,	pavements	, ditches
		landscaping, culverts, f			
			prior to the submission		-
		· ·	leted work area to will l	•	
			mposite photographs a		
			ne adjacent areas to do		Э
			a and the work complet	ted.	
		Deliverables - Photogr	aphy		

- A. Provide photographs taken on cutoff date for each scheduled application for Payment.
- B. Provide five prints of each view.
- C. Color Photographs: Single weight, color print paper, smooth glossy surface, 8-inch x 10-inch.
- D. Identify each print on back, listing: Name of project, specific location, date and time of exposure, name and address of SkyData UAV, and numbered exposure identification.
- E. The photographs and video will be made with high resolution and sharpness, maximum depth-of-field, and minimum distortion.
- F. Electronic files of photographs shall be provided on DVD by SkyData to the consultant

and the county.

G. Photograph from locations that adequately illustrate condition of construction and state of progress.

Video Capture

Ground Video: Per the bid requirements SkyData will walk the entire 6,850 feet where construction will occur to capture with a high-definition video camera and provide a narrative the details of the existing conditions.

Scope of work indicated in the Specifications and Requirements document:

The audio track will be an original live recording with a narrative commentary by the SkyData UAV videographer, recorded simultaneously with fixed elevation video record of the zone of influence of construction.

All video recordings will, by electronic means, display continuously and simultaneously generated with the actual transparent digital information to include the date and time of recording, and station numbers as shown on the drawings. The date information will contain the month, day and year. The time information shall contain the hour, minutes and seconds. Additional information shall be displayed periodically. Such information shall include, but not be limited to, project name, contract number, name of street, direction of travel and the viewing side. This transparent information will appear on the

upper middle portion of the screen.
Deliverables: DVDs of HD recordings.

Equipment

DJI Phantom 4 Pro

JVC GY-HM170UA 4KCAM Compact Professional Camcorder and shoulder mount

Sony Uwp-V1 Wireless Microphone System

Canon 7D DSLR Camera

Video editing equipment and software: iMac, Photoshop,

Premiere, and 3D Robotics SiteScan software for processing aerial photography

Projects Completed In the Past 12 Months

Broward County Water and Sewer System · Hillsboro Mile Sewer System · PNC2115756C

Broward County Water and Sewer System \cdot Lauderdale Lakes - UAZ 113B

Pre-Construction Phase - 6,850 feet of the Project Area · Video and Photography \$ 875

- Ground video with narration of existing conditions of all roads and swails
- Ground photography of construction route documenting existing landscaping, sidewalks, roads and swails

Per Visit Cost - Once Per Month for Ground Photography and Video of Completed Segments @ \$275/visit · 4 visits \$1,100

- Aerial and ground photography and video of the completed segments with audio narration of the existing conditions

·		i			
MGM General Contracting	First Offer - \$2,194.34	1 / lump sum	\$2,194.34	Υ	
		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$10,500.00	1 / lump sum	\$10,500.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$65,000.00	1 / lump sum	\$65,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$67,000.00	1 / lump sum	\$67,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$68,900.00	1 / lump sum	\$68,900.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
DBF CONSTRUCTION LLC	First Offer - \$70,000.00	1 / lump sum	\$70,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
V Engineering & Consulting Corp	First Offer - \$90,000.00	1 / lump sum	\$90,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2116454C101-03 Imported Item L	ot: EXCESS INSURANCE	E AND MOBILIZATIO	N			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MGM General Contracting	First Offer - \$0.00	1 / lump sum	\$0.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
V Engineering & Consulting Corp	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
DBF CONSTRUCTION LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Miguel Lopez Jr Inc	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
sun up enterprises inc	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$115,000.00	1 / lump sum	\$115,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
R.P. Utility & Excavation Corp.	First Offer - \$120,000.00	1 / lump sum	\$120,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PNC2116454C101-04 Imported Item Lot: MAINTENANCE OF TRAFFIC								
Unit Price	Qty/Unit	Total Price	Attch.	Docs				
First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ				
Product Code:		Supplier Product Code:						
	Supplier Notes:							
First Offer - \$55,552.89	1 / lump sum	\$55,552.89		Υ				
	Supplier Product C	Code:						
	Supplier Notes:							
First Offer - \$63,500.00	1 / lump sum	\$63,500.00		Υ				
	Unit Price First Offer - \$50,000.00 First Offer - \$55,552.89	Unit Price Qty/Unit First Offer · \$50,000.00 1 / lump sum Supplier Product C Supplier Notes: First Offer · \$55,552.89 1 / lump sum Supplier Product C Supplier Notes:	Unit Price Qty/Unit Total Price First Offer · \$50,000.00 1 / lump sum \$50,000.00 Supplier Product Code: Supplier Notes: First Offer · \$55,552.89 1 / lump sum \$55,552.89 Supplier Product Code: Supplier Notes:	Unit Price Qty/Unit Total Price Attch. First Offer - \$50,000.00 1 / lump sum \$50,000.00 Supplier Product Code: Supplier Notes: First Offer - \$55,552.89 1 / lump sum \$55,552.89 Supplier Product Code: Supplier Notes:				

Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$64,000.00	1 / lump sum	\$64,000.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
DBF CONSTRUCTION LLC	First Offer - \$115,000.00	1 / lump sum	\$115,000.00	Υ	
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
sun up enterprises inc	First Offer - \$125,000.00	1 / lump sum	\$125,000.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$300,000.00	1 / lump sum	\$300,000.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

PNC2116454C101-05 Imported Item	n Lot: SURVEY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
V Engineering & Consulting Corp	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
DBF CONSTRUCTION LLC	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$38,000.00	1 / lump sum	\$38,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$38,887.02	1 / lump sum	\$38,887.02		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
sun up enterprises inc	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$62,000.00	1 / lump sum	\$62,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
R.P. Utility & Excavation Corp.	First Offer - \$67,000.00	1 / lump sum	\$67,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-06 Imported Item Lo	t: TESTING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
R.P. Utility & Excavation Corp.	First Offer - \$1,804.83	1 / lump sum	\$1,804.83		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
V Engineering & Consulting Corp	First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
MGM General Contracting	First Offer - \$8,332.93	1 / lump sum	\$8,332.93		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
DBF CONSTRUCTION LLC	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$12,800.00	1 / lump sum	\$12,800.00		Υ
Product Code:		Supplier Product C	ode:		

Agency Notes:		Supplier Notes:				
sun up enterprises inc	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$29,000.00	1 / lump sum	\$29,000.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				

PNC2116454C101-07 Imported Item Lot: 12 INCH DUCTILE IRON PIPE (D.I.P)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
R.P. Utility & Excavation Corp.	First Offer - \$79.00	5653 / linear foot	\$446,587.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southern Underground Industries, Inc.	First Offer - \$84.00	5653 / linear foot	\$474,852.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
sun up enterprises inc	First Offer - \$112.00	5653 / linear foot	\$633,136.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Miguel Lopez Jr Inc	First Offer - \$126.00	5653 / linear foot	\$712,278.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
DBF CONSTRUCTION LLC	First Offer - \$150.00	5653 / linear foot	\$847,950.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
V Engineering & Consulting Corp	First Offer - \$155.00	5653 / linear foot	\$876,215.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
MGM General Contracting	First Offer - \$161.10	5653 / linear foot	\$910,698.30		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
sun up enterprises inc	First Offer - \$58.00	25 / linear foot	\$1,450.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
R.P. Utility & Excavation Corp.	First Offer - \$61.00	25 / linear foot	\$1,525.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Southern Underground Industries, Inc.	First Offer - \$87.00	25 / linear foot	\$2,175.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
MGM General Contracting	First Offer - \$88.88	25 / linear foot	\$2,222.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Miguel Lopez Jr Inc	First Offer - \$117.00	25 / linear foot	\$2,925.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
V Engineering & Consulting Corp	First Offer - \$145.00	25 / linear foot	\$3,625.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
DBF CONSTRUCTION LLC 👔	First Offer - \$337.00	25 / linear foot	\$8,425.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

PNC2116454C101-09 Imported Item		1	T		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
R.P. Utility & Excavation Corp.	First Offer - \$120.00	1522 / linear foot	\$182,640.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Miguel Lopez Jr Inc	First Offer - \$136.00	1522 / linear foot	\$206,992.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$175.00	1522 / linear foot	\$266,350.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
MGM General Contracting	First Offer - \$194.44	1522 / linear foot	\$295,937.68		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$195.00	1522 / linear foot	\$296,790.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
V Engineering & Consulting Corp	First Offer - \$200.00	1522 / linear foot	\$304,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
DBF CONSTRUCTION LLC	First Offer - \$205.00	1522 / linear foot	\$312,010.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
V Engineering & Consulting Corp	First Offer - \$10.00	110 / linear foot	\$1,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
R.P. Utility & Excavation Corp.	First Offer - \$21.65	110 / linear foot	\$2,381.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
DBF CONSTRUCTION LLC	First Offer - \$27.00	110 / linear foot	\$2,970.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$30.00	110 / linear foot	\$3,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Miguel Lopez Jr Inc	First Offer - \$30.00	110 / linear foot	\$3,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MGM General Contracting	First Offer - \$33.33	110 / linear foot	\$3,666.30		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
sun up enterprises inc	First Offer - \$35.00	110 / linear foot	\$3,850.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2116454C101-11 Imported Item Lot: 12 INCH BY 12 INCH MJ WET TAP							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
V Engineering & Consulting Corp	First Offer - \$1,695.00	12 / each	\$20,340.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
sun up enterprises inc	First Offer - \$8,900.00	12 / each	\$106,800.00		Υ		

Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Miguel Lopez Jr Inc	First Offer - \$9,800.00	12 / each	\$117,600.00	Υ	
		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$12,000.00	12 / each	\$144,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
DBF CONSTRUCTION LLC	First Offer - \$12,750.00	12 / each	\$153,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$15,554.81	12 / each	\$186,657.72	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$18,000.00	12 / each	\$216,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2116454C101-12 Imported Item	Lot: 16 INCH BY 12 INCI	H MJ WET TAP				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
V Engineering & Consulting Corp	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Miguel Lopez Jr Inc	First Offer - \$11,100.00	1 / each	\$11,100.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$13,000.00	1 / each	\$13,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
sun up enterprises inc	First Offer - \$13,660.00	1 / each	\$13,660.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
DBF CONSTRUCTION LLC	First Offer - \$17,030.11	1 / each	\$17,030.11		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MGM General Contracting	First Offer - \$17,776.93	1 / each	\$17,776.93		Υ	
		Supplier Product Co Supplier Notes:	ode:			
R.P. Utility & Excavation Corp.	First Offer - \$20,000.00	1 / each	\$20,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2116454C101-13 Imported Item Lot: 6 INCH BY 6 INCH MJ WET TAP								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
V Engineering & Consulting Corp	First Offer - \$500.00	1 / each	\$500.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
sun up enterprises inc	First Offer - \$3,900.00	1 / each	\$3,900.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Miguel Lopez Jr Inc	First Offer - \$5,474.00	1 / each	\$5,474.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
MGM General Contracting	First Offer - \$6,666.35	1 / each	\$6,666.35		Υ			
Product Code:		Supplier Product C	ode:					

Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$7,500.00	1 / each	\$7,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
DBF CONSTRUCTION LLC	First Offer - \$9,750.00	1 / each	\$9,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$13,000.00	1 / each	\$13,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MGM General Contracting	First Offer - \$1,111.06	1 / each	\$1,111.06		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Southern Underground Industries, Inc.	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
sun up enterprises inc	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
R.P. Utility & Excavation Corp.	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$2,160.00	1 / each	\$2,160.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
V Engineering & Consulting Corp	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ
		Supplier Product Cod Supplier Notes:	le:		
DBF CONSTRUCTION LLC 👔	First Offer - \$3,300.00	1 / each	\$3,300.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PNC2116454C101-15 Imported Item Lot: 12 INCH BY 12 INCH DIP TEE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
V Engineering & Consulting Corp	First Offer - \$1,000.00	12 / each	\$12,000.00		Υ			
		Supplier Product C Supplier Notes:	ode:					
DBF CONSTRUCTION LLC	First Offer - \$1,244.00	12 / each	\$14,928.00		Υ			
		Supplier Product Code: Supplier Notes:						
sun up enterprises inc	First Offer - \$1,600.00	12 / each	\$19,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
R.P. Utility & Excavation Corp.	First Offer - \$2,500.00	12 / each	\$30,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
MGM General Contracting	First Offer - \$3,333.17	12 / each	\$39,998.04		Υ			
		Supplier Product C Supplier Notes:	ode:					
Southern Underground Industries, Inc.	First Offer - \$3,800.00	12 / each	\$45,600.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

Miguel Lopez Jr Inc	First Offer - \$23,392.00	12 / each	\$280,704.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

PNC2116454C101-16 Imported Item	Lot: 12 INCH BY 6 INCH	H DIP TEE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
DBF CONSTRUCTION LLC	First Offer - \$980.00	1 / each	\$980.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$1,250.00	1 / each	\$1,250.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$1,400.00	1 / each	\$1,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
V Engineering & Consulting Corp	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$1,690.00	1 / each	\$1,690.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$1,900.00	1 / each	\$1,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$3,333.17	1 / each	\$3,333.17		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-17 Imported Item		1	,		_
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
DBF CONSTRUCTION LLC 👔	First Offer - \$820.00	5 / each	\$4,100.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
sun up enterprises inc	First Offer - \$1,100.00	5 / each	\$5,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$1,200.00	5 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$1,362.00	5 / each	\$6,810.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$1,580.00	5 / each	\$7,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
V Engineering & Consulting Corp	First Offer - \$1,750.00	5 / each	\$8,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$2,222.12	5 / each	\$11,110.60		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-18 Imported Item Lot: 12 INCH DIP 22.5 DEGREE (HORIZONTAL) BEND							
Supplier	Unit Price Qty/Unit Total Price Attch. D						
DBF CONSTRUCTION LLC	First Offer - \$815.00	7 / each	\$5,705.00		Υ		

		Supplier Product Co Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$1,050.00	7 / each	\$7,350.00	Υ	
		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$1,200.00	7 / each	\$8,400.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Miguel Lopez Jr Inc	First Offer - \$1,385.00	7 / each	\$9,695.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$1,580.00	7 / each	\$11,060.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
V Engineering & Consulting Corp	First Offer - \$2,000.00	7 / each	\$14,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
MGM General Contracting	First Offer - \$2,222.12	7 / each	\$15,554.84	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-19 Imported Item Lot	:: 12 INCH DIP 22.5 D	EGREE (VERTICAL)	BEND			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
DBF CONSTRUCTION LLC	First Offer - \$805.00	9 / each	\$7,245.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
sun up enterprises inc	First Offer - \$1,050.00	9 / each	\$9,450.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
Miguel Lopez Jr Inc	First Offer - \$1,385.00	9 / each	\$12,465.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
R.P. Utility & Excavation Corp.	First Offer - \$1,580.00	9 / each	\$14,220.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$1,800.00	9 / each	\$16,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
V Engineering & Consulting Corp	First Offer - \$2,000.00	9 / each	\$18,000.00		Υ	
		Supplier Product C Supplier Notes:	ode:			
MGM General Contracting	First Offer - \$2,222.12	9 / each	\$19,999.08		Υ	
		Supplier Product C Supplier Notes:	ode:			

PNC2116454C101-20 Imported Item Lot: 12 INCH DIP 45 DEGREE (HORIZONTAL) BEND								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
DBF CONSTRUCTION LLC	First Offer - \$820.00	18 / each	\$14,760.00		Υ			
		Supplier Product Code: Supplier Notes:						
V Engineering & Consulting Corp	First Offer - \$1,000.00	18 / each	\$18,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
sun up enterprises inc	First Offer - \$1,050.00	18 / each	\$18,900.00		Υ			
Product Code:		Supplier Product C	ode:					

Agency Notes:		Supplier Notes:		
Southern Underground Industries, Inc.	First Offer - \$1,200.00	18 / each	\$21,600.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
Miguel Lopez Jr Inc	First Offer - \$1,490.00	18 / each	\$26,820.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
R.P. Utility & Excavation Corp.	First Offer - \$1,630.00	18 / each	\$29,340.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
MGM General Contracting	First Offer - \$2,222.12	18 / each	\$39,998.16	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

DNC244/45404 04 04 June and address	1 -+: 10 INOU DID 45 DE	ODEE (VEDILOAL) D	END		
·	Lot: 12 INCH DIP 45 DE	1 ,			_
Supplier	Unit Price		Total Price	Attch.	Docs
DBF CONSTRUCTION LLC 📝	First Offer - \$810.00	46 / each	\$37,260.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
V Engineering & Consulting Corp	First Offer - \$1,000.00	46 / each	\$46,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
sun up enterprises inc	First Offer - \$1,050.00	46 / each	\$48,300.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$1,375.00	46 / each	\$63,250.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$1,630.00	46 / each	\$74,980.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$1,800.00	46 / each	\$82,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
MGM General Contracting	First Offer - \$2,222.12	46 / each	\$102,217.52		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2116454C101-22 Imported Item Lot: 12 INCH DIP 90 DEGREE (HORIZONTAL) BEND								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
DBF CONSTRUCTION LLC	First Offer - \$859.00	1 / each	\$859.00		Υ			
		Supplier Product C Supplier Notes:	ode:					
V Engineering & Consulting Corp	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
sun up enterprises inc	First Offer - \$1,100.00	1 / each	\$1,100.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Southern Underground Industries, Inc.	First Offer - \$1,300.00	1 / each	\$1,300.00		Υ			
		Supplier Product Code: Supplier Notes:						
Miguel Lopez Jr Inc	First Offer - \$1,582.00	1 / each	\$1,582.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

R.P. Utility & Excavation Corp.	First Offer - \$1,750.00	1 / each	\$1,750.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
MGM General Contracting	First Offer - \$2,222.12	1 / each	\$2,222.12	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2116454C101-23 Imported Item	Lot: 12 INCH DIP GATE	VALVE			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
V Engineering & Consulting Corp	First Offer - \$2,500.00	25 / each	\$62,500.00		Υ
		Supplier Product C Supplier Notes:	ode:		
DBF CONSTRUCTION LLC	First Offer - \$3,300.00	25 / each	\$82,500.00		Υ
		Supplier Product C Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$3,400.00	25 / each	\$85,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
sun up enterprises inc	First Offer - \$4,075.00	25 / each	\$101,875.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$4,134.00	25 / each	\$103,350.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$6,110.82	25 / each	\$152,770.50		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
R.P. Utility & Excavation Corp.	First Offer - \$7,000.00	25 / each	\$175,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2116454C101-24 Imported Item Lot: 16 INCH DIP 22.5 DEGREE (HORIZONTAL) BEND								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
V Engineering & Consulting Corp	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
DBF CONSTRUCTION LLC 👔	First Offer - \$1,302.00	1 / each	\$1,302.00		Υ			
		Supplier Product C Supplier Notes:	ode:					
Southern Underground Industries, Inc.	First Offer - \$1,700.00	1 / each	\$1,700.00		Υ			
		Supplier Product Code: Supplier Notes:						
sun up enterprises inc	First Offer - \$1,900.00	1 / each	\$1,900.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Miguel Lopez Jr Inc	First Offer - \$2,225.00	1 / each	\$2,225.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
R.P. Utility & Excavation Corp.	First Offer - \$2,350.00	1 / each	\$2,350.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
MGM General Contracting	First Offer - \$3,333.17	1 / each	\$3,333.17		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2116454C101-25 Imported Item L	ot: 16 INCH DIP 45 DE	GREE (VERTICAL) BI	END		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
V Engineering & Consulting Corp	First Offer - \$1,000.00	6 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
DBF CONSTRUCTION LLC 👔	First Offer - \$1,382.00	6 / each	\$8,292.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$2,100.00	6 / each	\$12,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$2,300.00	6 / each	\$13,800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$2,305.00	6 / each	\$13,830.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$2,350.00	6 / each	\$14,100.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
MGM General Contracting	First Offer - \$3,333.17	6 / each	\$19,999.02		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-26 Imported Item Lot: 6 INCH DIP 22.5 DEGREE (HORIZONTAL) BEND									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
DBF CONSTRUCTION LLC	First Offer - \$440.00	1 / each	\$440.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
sun up enterprises inc	First Offer - \$550.00	1 / each	\$550.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Southern Underground Industries, Inc.	First Offer - \$770.00	1 / each	\$770.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
V Engineering & Consulting Corp	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Miguel Lopez Jr Inc	First Offer - \$1,063.00	1 / each	\$1,063.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
R.P. Utility & Excavation Corp.	First Offer - \$1,200.00	1 / each	\$1,200.00		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
MGM General Contracting	First Offer - \$1,666.59	1 / each	\$1,666.59		Υ				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

PNC2116454C101-27 Imported Item Lot: 6 INCH DIP 45 DEGREE (HORIZONTAL) BEND									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
DBF CONSTRUCTION LLC	First Offer - \$365.00	1 / each	\$365.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
sun up enterprises inc	First Offer - \$500.00	1 / each	\$500.00		Υ				
Product Code:		Supplier Product C	ode:						

Agency Notes:		Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$770.00	1 / each	\$770.00	Υ	
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
V Engineering & Consulting Corp	First Offer - \$1,000.00	1 / each	\$1,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Miguel Lopez Jr Inc	First Offer - \$1,072.00	1 / each	\$1,072.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$1,200.00	1 / each	\$1,200.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MGM General Contracting	First Offer - \$1,666.59	1 / each	\$1,666.59	Υ	
Product Code:		Supplier Product C	ode.		

PNC2116454C101-28 Imported Item Lo	t: 6 INCH DIP GATE	VALVE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
V Engineering & Consulting Corp	First Offer - \$1,181.75	1 / each	\$1,181.75		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
sun up enterprises inc	First Offer - \$1,475.00	1 / each	\$1,475.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Southern Underground Industries, Inc.	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
DBF CONSTRUCTION LLC	First Offer - \$1,635.00	1 / each	\$1,635.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Miguel Lopez Jr Inc	First Offer - \$1,969.00	1 / each	\$1,969.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
R.P. Utility & Excavation Corp.	First Offer - \$4,000.00	1 / each	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
MGM General Contracting	First Offer - \$4,999.76	1 / each	\$4,999.76		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2116454C101-29 Imported Item Lot: 24 INCH BY 12 INCH DIP REDUCERS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
V Engineering & Consulting Corp	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ		
		Supplier Product Code: Supplier Notes:					
DBF CONSTRUCTION LLC	First Offer - \$1,850.00	1 / each	\$1,850.00		Υ		
		Supplier Product Code: Supplier Notes:					
sun up enterprises inc	First Offer - \$2,300.00	1 / each	\$2,300.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Southern Underground Industries, Inc.	First Offer - \$2,300.00	1 / each	\$2,300.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

Miguel Lopez Jr Inc	First Offer - \$3,136.00	1 / each	\$3,136.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$3,500.00	1 / each	\$3,500.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
MGM General Contracting	First Offer - \$5,555.29	1 / each	\$5,555.29		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2116454C101-30 Imported Item Lo	t: 16 INCH BY 12 INC	H DIP REDUCERS			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
sun up enterprises inc	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$1,300.00	2 / each	\$2,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
DBF CONSTRUCTION LLC 👔	First Offer - \$1,375.00	2 / each	\$2,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
V Engineering & Consulting Corp	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$1,950.00	2 / each	\$3,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$2,688.00	2 / each	\$5,376.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MGM General Contracting	First Offer - \$4,999.76	2 / each	\$9,999.52		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2116454C101-31 Imported Item L	ot: FLUSHING VALVE	OUTLET (EVO)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Miguel Lopez Jr Inc	First Offer - \$1,940.00	9 / each	\$17,460.00		Υ
Product Code:		Supplier Product C Supplier Notes:	ode:		
V Engineering & Consulting Corp	First Offer - \$2,000.00	9 / each	\$18,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$3,476.33	9 / each	\$31,286.97		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
DBF CONSTRUCTION LLC	First Offer - \$4,050.00	9 / each	\$36,450.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
sun up enterprises inc	First Offer - \$6,000.00	9 / each	\$54,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$6,300.00	9 / each	\$56,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$6,666.35	9 / each	\$59,997.15		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PNC2116454C101-32 Imported Item					_
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
V Engineering & Consulting Corp	First Offer - \$150.00	407 / ton	\$61,050.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Miguel Lopez Jr Inc	First Offer - \$155.00	407 / ton	\$63,085.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$165.00	407 / ton	\$67,155.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
R.P. Utility & Excavation Corp.	First Offer - \$198.88	407 / ton	\$80,944.16		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$200.00	407 / ton	\$81,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$222.21	407 / ton	\$90,439.47		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
DBF CONSTRUCTION LLC	First Offer - \$320.00	407 / ton	\$130,240.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-33 Imported Item Lo	:: 8 INCH LIMEROC	K BASE MATERIAL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
R.P. Utility & Excavation Corp.	First Offer - \$6.76	1394 / square yard	\$9,423.44		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Miguel Lopez Jr Inc	First Offer - \$12.50	1394 / square yard	\$17,425.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
V Engineering & Consulting Corp	First Offer - \$15.00	1394 / square yard	\$20,910.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MGM General Contracting	First Offer - \$15.55	1394 / square yard	\$21,676.70		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
sun up enterprises inc	First Offer - \$16.00	1394 / square yard	\$22,304.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
DBF CONSTRUCTION LLC	First Offer - \$26.00	1394 / square yard	\$36,244.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$28.00	1394 / square yard	\$39,032.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2116454C101-34 Imported Item Lot: 16 INCH LIMEROCK BASE MATERIAL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
R.P. Utility & Excavation Corp.	First Offer - \$11.30	1578 / square yard	\$17,831.40		Υ	
Product Code:		Supplier Product Co	ode:			

Agency Notes:		Supplier Notes:		
V Engineering & Consulting Corp	First Offer - \$15.00	1578 / square yard	\$23,670.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Miguel Lopez Jr Inc	First Offer - \$26.15	1578 / square yard	\$41,264.70	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
MGM General Contracting	First Offer - \$27.78	1578 / square yard	\$43,836.84	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
sun up enterprises inc	First Offer - \$32.00	1578 / square yard	\$50,496.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
DBF CONSTRUCTION LLC	First Offer - \$34.00	1578 / square yard	\$53,652.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Southern Underground Industries, Inc.	First Offer - \$43.00	1578 / square yard	\$67,854.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
DBF CONSTRUCTION LLC	First Offer - \$1.50	4090 / square yard	\$6,135.00		Υ
		Supplier Product Code Supplier Notes:	: :		
V Engineering & Consulting Corp	First Offer - \$2.00	4090 / square yard	\$8,180.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		
R.P. Utility & Excavation Corp.	First Offer - \$3.00	4090 / square yard	\$12,270.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$8.89	4090 / square yard	\$36,360.10		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$14.00	4090 / square yard	\$57,260.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
sun up enterprises inc	First Offer - \$14.50	4090 / square yard	\$59,305.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$18.90	4090 / square yard	\$77,301.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

PNC2116454C101-36 Imported Item Lot: TOPSOIL AND SOD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
MGM General Contracting	First Offer - \$0.61	3988 / square yard	\$2,432.68		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
V Engineering & Consulting Corp	First Offer - \$2.75	3988 / square yard	\$10,967.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
sun up enterprises inc	First Offer - \$5.75	3988 / square yard	\$22,931.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

R.P. Utility & Excavation Corp.	First Offer - \$6.41	3988 / square yard	\$25,563.08	Υ
Product Code:		Supplier Product Co Supplier Notes:	ode:	
Agency Notes:			1	
Southern Underground Industries, Inc.	First Offer - \$8.80	3988 / square yard	\$35,094.40	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Miguel Lopez Jr Inc	First Offer - \$9.90	3988 / square yard	\$39,481.20	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
DBF CONSTRUCTION LLC	First Offer - \$11.00	3988 / square yard	\$43,868.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2116454C101-37 Imported Iten	n Lot: SAMPLING POINT	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southern Underground Industries, Inc.	First Offer - \$360.00	15 / each	\$5,400.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
V Engineering & Consulting Corp	First Offer - \$750.00	15 / each	\$11,250.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
sun up enterprises inc	First Offer - \$1,025.00	15 / each	\$15,375.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
DBF CONSTRUCTION LLC 👔	First Offer - \$1,245.00	15 / each	\$18,675.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Miguel Lopez Jr Inc	First Offer - \$1,500.00	15 / each	\$22,500.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
MGM General Contracting	First Offer - \$1,666.59	15 / each	\$24,998.85		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
R.P. Utility & Excavation Corp.	First Offer - \$2,500.00	15 / each	\$37,500.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

PNC2116454C101-38 Imported Item Lot	:: AUTOMATIC AIR RE	LEASE VALVE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
V Engineering & Consulting Corp	First Offer - \$1,500.00	7 / each	\$10,500.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Miguel Lopez Jr Inc	First Offer - \$8,120.00	7 / each	\$56,840.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MGM General Contracting	First Offer - \$8,888.46	7 / each	\$62,219.22		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
DBF CONSTRUCTION LLC	First Offer - \$10,000.00	7 / each	\$70,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
R.P. Utility & Excavation Corp.	First Offer - \$15,000.00	7 / each	\$105,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
sun up enterprises inc	First Offer - \$15,700.00	7 / each	\$109,900.00		Υ	

Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
Southern Underground Industries, Inc.	First Offer - \$17,000.00	7 / each	\$119,000.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
V Engineering & Consulting Corp	First Offer - \$0.50	1224 / linear foot	\$612.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
R.P. Utility & Excavation Corp.	First Offer - \$0.95	1224 / linear foot	\$1,162.80		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
DBF CONSTRUCTION LLC	First Offer - \$2.00	1224 / linear foot	\$2,448.00		Υ	
		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$2.60	1224 / linear foot	\$3,182.40		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
sun up enterprises inc	First Offer - \$2.75	1224 / linear foot	\$3,366.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Miguel Lopez Jr Inc	First Offer - \$3.00	1224 / linear foot	\$3,672.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
MGM General Contracting	First Offer - \$3.03	1224 / linear foot	\$3,708.72		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			

PNC2116454C101-40 Imported Item Lot:	PAVEMENT MAR	KINGS YELLOW STR	IPING 6 INCH			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
V Engineering & Consulting Corp	First Offer - \$0.50	3357 / linear foot	\$1,678.50		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
R.P. Utility & Excavation Corp.	First Offer - \$0.95	3357 / linear foot	\$3,189.15		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
DBF CONSTRUCTION LLC	First Offer - \$2.00	3357 / linear foot	\$6,714.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$2.60	3357 / linear foot	\$8,728.20		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
sun up enterprises inc	First Offer - \$2.75	3357 / linear foot	\$9,231.75		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Miguel Lopez Jr Inc	First Offer - \$3.00	3357 / linear foot	\$10,071.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
MGM General Contracting	First Offer - \$3.03	3357 / linear foot	\$10,171.71		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2116454C1--01-41 Imported Item Lot: PAVEMENT MARKINGS YELLOW CHEVRON 12 INCH

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
V Engineering & Consulting Corp	First Offer - \$0.75	730 / linear foot	\$547.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
R.P. Utility & Excavation Corp.	First Offer - \$2.25	730 / linear foot	\$1,642.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$4.40	730 / linear foot	\$3,212.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$5.00	730 / linear foot	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$5.28	730 / linear foot	\$3,854.40		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
DBF CONSTRUCTION LLC	First Offer - \$5.50	730 / linear foot	\$4,015.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Miguel Lopez Jr Inc	First Offer - \$6.00	730 / linear foot	\$4,380.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-42 Imported Item Lot: PAVEMENT MARKINGS WHITE STRIPING 24 INCH STOP BAR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
V Engineering & Consulting Corp	First Offer - \$0.75	43 / linear foot	\$32.25		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
R.P. Utility & Excavation Corp.	First Offer - \$5.00	43 / linear foot	\$215.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Miguel Lopez Jr Inc	First Offer - \$10.00	43 / linear foot	\$430.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Southern Underground Industries, Inc.	First Offer - \$11.00	43 / linear foot	\$473.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
DBF CONSTRUCTION LLC	First Offer - \$11.00	43 / linear foot	\$473.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
sun up enterprises inc	First Offer - \$13.00	43 / linear foot	\$559.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
MGM General Contracting	First Offer - \$13.18	43 / linear foot	\$566.74		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2116454C101-43 Imported Item Lot: RETRO-REFLECTIVE PAVEMENT MARKER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
V Engineering & Consulting Corp	First Offer - \$1.00	235 / each	\$235.00		Υ		
		Supplier Product Code: Supplier Notes:					
R.P. Utility & Excavation Corp.	First Offer - \$4.50	235 / each	\$1,057.50		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

Miguel Lopez Jr Inc	First Offer - \$6.50	235 / each	\$1,527.50	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$6.60	235 / each	\$1,551.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
MGM General Contracting	First Offer - \$7.91	235 / each	\$1,858.85	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
sun up enterprises inc	First Offer - \$8.00	235 / each	\$1,880.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
DBF CONSTRUCTION LLC	First Offer - \$11.00	235 / each	\$2,585.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-44 Imported Item I	ot: 8 FOOT AOA FEN	CE WITH BARBED W	/IRE			
Supplier	Unit Price		Total Price	Attch.	Docs	
V Engineering & Consulting Corp	First Offer - \$20.00	80 / linear foot	\$1,600.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
R.P. Utility & Excavation Corp.	First Offer - \$47.00	80 / linear foot	\$3,760.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
DBF CONSTRUCTION LLC	First Offer - \$80.00	80 / linear foot	\$6,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Miguel Lopez Jr Inc	First Offer - \$100.00	80 / linear foot	\$8,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
sun up enterprises inc	First Offer - \$120.00	80 / linear foot	\$9,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$170.00	80 / linear foot	\$13,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MGM General Contracting	First Offer - \$248.88	80 / linear foot	\$19,910.40		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2116454C101-45 Imported Item Lot: 6 FOOT CHAIN LINK FENCE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
V Engineering & Consulting Corp	First Offer - \$20.00	40 / linear foot	\$800.00		Υ		
		Supplier Product Code: Supplier Notes:					
R.P. Utility & Excavation Corp.	First Offer - \$35.00	40 / linear foot	\$1,400.00		Υ		
		Supplier Product Code: Supplier Notes:					
MGM General Contracting	First Offer - \$66.66	40 / linear foot	\$2,666.40		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
DBF CONSTRUCTION LLC 👔	First Offer - \$70.00	40 / linear foot	\$2,800.00		Υ		
		Supplier Product Code: Supplier Notes:					
sun up enterprises inc	First Offer - \$95.00	40 / linear foot	\$3,800.00		Υ		

Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Miguel Lopez Jr Inc	First Offer - \$100.00	40 / linear foot	\$4,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Southern Underground Industries, Inc.	First Offer - \$110.00	40 / linear foot	\$4,400.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
V Engineering & Consulting Corp	First Offer · \$5.00	47 / linear foot	\$235.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
R.P. Utility & Excavation Corp.	First Offer - \$24.15	47 / linear foot	\$1,135.05		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
sun up enterprises inc	First Offer - \$40.00	47 / linear foot	\$1,880.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$44.00	47 / linear foot	\$2,068.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$66.66	47 / linear foot	\$3,133.02		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$80.00	47 / linear foot	\$3,760.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
DBF CONSTRUCTION LLC	First Offer - \$195.00	47 / linear foot	\$9,165.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PNC2116454C101-47 Imported Item Lot: CURB, TYPE F CURB & GUTTER AND VALLEY GUTTER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
V Engineering & Consulting Corp	First Offer - \$3.00	47 / linear foot	\$141.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
sun up enterprises inc	First Offer · \$4.00	47 / linear foot	\$188.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
MGM General Contracting	First Offer - \$22.22	47 / linear foot	\$1,044.34		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
R.P. Utility & Excavation Corp.	First Offer - \$24.15	47 / linear foot	\$1,135.05		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Southern Underground Industries, Inc.	First Offer - \$44.00	47 / linear foot	\$2,068.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Miguel Lopez Jr Inc	First Offer - \$80.00	47 / linear foot	\$3,760.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
DBF CONSTRUCTION LLC 👔	First Offer - \$195.00	47 / linear foot	\$9,165.00		Υ		
Product Code:		Supplier Product Code:					

Agency Notes:	Supplier Notes:
rigency reces.	Supplier Notes.

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
V Engineering & Consulting Corp	First Offer - \$25.00	30 / each	\$750.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
R.P. Utility & Excavation Corp.	First Offer - \$416.66	30 / each	\$12,499.80		Υ
		Supplier Product Co Supplier Notes:	ode:		
DBF CONSTRUCTION LLC	First Offer - \$500.00	30 / each	\$15,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$525.00	30 / each	\$15,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$597.19	30 / each	\$17,915.70		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
sun up enterprises inc	First Offer - \$750.00	30 / each	\$22,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$1,100.00	30 / each	\$33,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
V Engineering & Consulting Corp	First Offer - \$100.00	23 / each	\$2,300.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$500.00	23 / each	\$11,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
R.P. Utility & Excavation Corp.	First Offer - \$500.00	23 / each	\$11,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
DBF CONSTRUCTION LLC	First Offer - \$605.00	23 / each	\$13,915.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
MGM General Contracting	First Offer - \$833.29	23 / each	\$19,165.67		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$1,000.00	23 / each	\$23,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Miguel Lopez Jr Inc	First Offer - \$3,000.00	23 / each	\$69,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-50 Imported Item Lot: DEWATERING						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
V Engineering & Consulting Corp	First Offer - \$100.00	24 / day	\$2,400.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

DBF CONSTRUCTION LLC	First Offer - \$250.00	24 / day	\$6,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southern Underground Industries, Inc.	First Offer - \$500.00	24 / day	\$12,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$555.53	24 / day	\$13,332.72	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$838.47	24 / day	\$20,123.28	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Miguel Lopez Jr Inc	First Offer - \$2,200.00	24 / day	\$52,800.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
sun up enterprises inc	First Offer - \$2,500.00	24 / day	\$60,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2116454C101-51 Imported Item Lot: SUBSURFACE UTILITY ENGINEERING						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
V Engineering & Consulting Corp	First Offer - \$200.00	20 / each	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
MGM General Contracting	First Offer - \$333.32	20 / each	\$6,666.40		Υ	
		Supplier Product C Supplier Notes:	ode:			
R.P. Utility & Excavation Corp.	First Offer - \$500.00	20 / each	\$10,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$550.00	20 / each	\$11,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
sun up enterprises inc	First Offer - \$750.00	20 / each	\$15,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Miguel Lopez Jr Inc	First Offer - \$1,000.00	20 / each	\$20,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
DBF CONSTRUCTION LLC	First Offer - \$1,750.00	20 / each	\$35,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2116454C101-52 Imported Item Lot: STORM WATER POLLUTION PREVENTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
V Engineering & Consulting Corp	First Offer - \$0.25	7000 / linear foot	\$1,750.00		Υ		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:							
R.P. Utility & Excavation Corp.	First Offer - \$1.00	7000 / linear foot	\$7,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
MGM General Contracting	First Offer - \$1.67	7000 / linear foot	\$11,690.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
DBF CONSTRUCTION LLC	First Offer - \$1.80	7000 / linear foot	\$12,600.00		Υ		

		Supplier Product Code: Supplier Notes:				
Southern Underground Industries, Inc.	First Offer - \$2.50	7000 / linear foot	\$17,500.00	Υ		
		Supplier Product Code: Supplier Notes:				
Miguel Lopez Jr Inc	First Offer - \$3.00	7000 / linear foot	\$21,000.00	Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
sun up enterprises inc	First Offer - \$6.75	7000 / linear foot	\$47,250.00	Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2116454C101-53 Imported Item Lo	ot: SOIL REMOVAL/F	REPLACEMENT			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
V Engineering & Consulting Corp	First Offer - \$1.00	280 / cubic yard	\$280.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
R.P. Utility & Excavation Corp.	First Offer - \$26.07	280 / cubic yard	\$7,299.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MGM General Contracting	First Offer - \$33.33	280 / cubic yard	\$9,332.40		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
sun up enterprises inc	First Offer - \$40.00	280 / cubic yard	\$11,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
DBF CONSTRUCTION LLC	First Offer - \$43.00	280 / cubic yard	\$12,040.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Miguel Lopez Jr Inc	First Offer - \$60.00	280 / cubic yard	\$16,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southern Underground Industries, Inc.	First Offer - \$110.00	280 / cubic yard	\$30,800.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier Totals f V Engineering & Consulting Corp \$1,815,000.00 (53/53 items) Bid Contact **Andriw A Beruvides** Address MIAMI, FL 33129 felix@veccorp.net Ph 786-531-2987 Qualifications MBE SB **Supplier Notes: Agency Notes:** Head Attch: Bid \$24,514.00 **Allowance** f Southern Underground Industries, Inc. \$2,196,610.00 (53/53 items) **Bid Contact** Juan Barreneche Address 3453 NW 44 Street, Suite 205, juanb@southernui.com Oakland Park, FL 33309 Ph 954-650-4699 Qualifications CBE DBE MBE SB SBE Agency Notes: **Supplier Notes:** Head

	County	y Commissioners	
			Attch:
Bid Allowance			\$24,514.00
f R.P. Utility	& Excavation Corp.	\$2,290,132.42 (53/53 items)	
Bid Contact	Raidel Perez estimating@rpucorp.com Ph 786-577-6666 Fax 786-391-0217	Address 17680 NW 78th Ave. Suite 101 Hialeah, FL 33015	
Qualifications	DBE MBE SB		
Agency Notes	5:		Head Attch: 🖟
Bid Allowance			\$24,514.00
f sun up ent	erprises inc	\$2,309,806.75 (53/53 items)
Bid Contact	janet cusanelli sunupinc@aol.com Ph 954-445-5983 Fax 954-384-8849	Address 16641 waters edge dr fort lauderdale, FL 33326	
Supplier Code	VS0000004580		
Qualifications	CBE SB SBE		
Agency Notes	5:	Supplier Notes:	Head Attch:
Bid Allowance			\$24,514.00
f DBF CONS	TRUCTION LLC	\$2,377,990.11 (53/53 item	s)
Bid Contact	mark giannetti steph@dbfconst.comcastbiz.net Ph 954-892-1697	Address 1850 nw 15th ave suite 225 pompano beach fl, FL 33069	
Qualifications	WBE		
Bid Bond	(Status: Authorized on Oct 8, 2018)		
Agency Notes	5:	Supplier Notes:	Head Attch:
Bid Allowance			\$24,514.00
f Miguel Lop	ez Jr Inc	\$2,395,973.40 (53/53 items)
Bid Contact	Osvaldo Conde osvaldo@lopezinc.com Ph 305-884-0767	Address 21005 Taft St Pembroke Pines, FL 33029	
Qualifications	MBE		
Agency Notes	s:	Supplier Notes:	Head Attch:
Allowance			ΨΖ-1,5 14.00
f MGM Gene	eral Contracting	\$2,504,586.21 (53/53 item	s)

<u>-</u>	richter@mgmgc.com 532-9620	s	Suite 415 Fort Lauderdal Supplier Notes:	e, FL 33309	Head Attch:
Agency Notes:		s	Supplier Notes:		Attch:
Bid		s	Supplier Notes:		Attch:
					\$24,514.00
SkyData UAV				\$1,975.00	(1/53 items)
	akes kydatauav.com 533-3194	Addr	ess 4179 Davie Road Suite 200 Davie, FL 33314		
Qualifications CBE SB	SBE				
Agency Notes:		Supp	olier Notes:		